Multiplication de Deux Binomes (C)

Simplifiez chaque expression.

1 (8¢ + 9°)(—9 +3)

2. (Tn* +n?)(=5n — 1)

3 (=67 = 6f)(=T7f* —T7f)

L. (57’2 — 27“)(—37“4 + 57“3)

5. (80 — v)(=3v° — 6v*)

6. (—8v* + 8v)(—3v® — 40v?)

7. (—4p* +p*)(6p" — 77

8. (—25° —45%)(2s* + 3s)

e

). (7q" +8¢")(7¢° + 7q")

10 (9f° +8fH(—f*—6/?)
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Multiplication de Deux Binomes (C) Réponses

Simplifiez chaque expression.

(89 + 9 (=g +3)
= —8¢" + 23¢° + 3¢

\}

(Tn* +n?)(=5n — 1)
— —35n° — 12n* — n?

(=67 =6 (=T =Tf)
= 42f° + 844 4 423

o

(5r% = 2r)(=3r* + 5r7)
= —15¢% + 31r° — 107

Ot

- (80* — v)(=3v° — 6v?)
— 240" — 450% 1+ 60°

[@))

(=8v" 4 807)(—=30® — 40?)
= 240" + 8% — 320°

-3

(—4pt + p*)(6p — Tp%)
= —24p® + 34p" — 7p°

- (—25" — 45%)(25% + 3s)
— 45" — 145% — 125°

09

Ne)

(74" +8¢")(T¢° + 7¢")
— 49¢"% + 105¢° + 564°

10 (9F° +8fH(—f* —6f7)
= —9f% — 625 — 487
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